
N = 265

265 circles in a 1x0.20000 rectangle

radius =   0.014320797268
ratio  =  13.965702904477

density  = 0.853689902082
contacts = 691

 E.SPECHT
07-AUG-2010

N = 266

266 circles in a 1x0.20000 rectangle

radius =   0.014313369386
ratio  =  13.972950366014

density  = 0.856022681839
contacts = 438

 E.SPECHT
07-AUG-2010

N = 267

267 circles in a 1x0.20000 rectangle

radius =   0.014303340044
ratio  =  13.982748042149

density  = 0.858037098367
contacts = 527

 E.SPECHT
07-AUG-2010

N = 268

268 circles in a 1x0.20000 rectangle

radius =   0.014292030283
ratio  =  13.993813057977

density  = 0.859889263765
contacts = 672

 E.SPECHT
07-AUG-2010

N = 269

269 circles in a 1x0.20000 rectangle

radius =   0.014262199526
ratio  =  14.023082458883

density  = 0.859498598331
contacts = 597

 E.SPECHT
07-AUG-2010

N = 270

270 circles in a 1x0.20000 rectangle

radius =   0.014246778156
ratio  =  14.038261690063

density  = 0.860829149438
contacts = 521

 E.SPECHT
08-AUG-2010

N = 271

271 circles in a 1x0.20000 rectangle

radius =   0.014244878888
ratio  =  14.040133409739

density  = 0.863787052952
contacts = 310

 E.SPECHT
08-AUG-2010

N = 272

272 circles in a 1x0.20000 rectangle

radius =   0.014238001659
ratio  =  14.046915065411

density  = 0.866137534652
contacts = 725

 E.SPECHT
17-AUG-2010

N = 273

273 circles in a 1x0.20000 rectangle

radius =   0.014209463222
ratio  =  14.075127038362

density  = 0.865840445036
contacts = 666

 E.SPECHT
08-AUG-2010

N = 274

274 circles in a 1x0.20000 rectangle

radius =   0.014195842153
ratio  =  14.088632280256

density  = 0.867346765371
contacts = 514

 E.SPECHT
08-AUG-2010

N = 275

275 circles in a 1x0.20000 rectangle

radius =   0.014191231430
ratio  =  14.093209668450

density  = 0.869946882241
contacts = 685

 E.SPECHT
08-AUG-2010

N = 276

276 circles in a 1x0.20000 rectangle

radius =   0.014188659811
ratio  =  14.095763987458

density  = 0.872793918302
contacts = 553

 E.SPECHT
08-AUG-2010


